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fa: Fusi: ATLUL:
8¢ + 15x% —251x+252=0 X +3¢ —28x=0

S+ +23x-35=0 10 + 41x% — 105x + 54 = 0

8> — 17x% — 567x+ 648 = 0 9x> — 82 —225x+200 = 0

X —6F +5x=0 10x° + 7127 + 48x — 108 = 0

7 = 113x% +512x— 448 = 0 7 =55 — 14x+ 48 =0
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fa:

8> + 15x% —251x+ 252 =0

9
x==,4,-7
8

X+ 117 +23x-35=0
x=-7,-5,1

8> — 17x% — 567x + 648 = 0

9
x=-,-89
8
X —6F+5¢=0
x=15,1,0

7> — 1132 + 512x — 448 = 0
8
> 857
7

x:

Jun: ATLLUU:

X 43¢ —28x =0
x=-7,4,0

10x° + 41x> — 105x + 54 = 0
9

x=—,—6,1
10

O — 8x% —225x+ 200 = 0
8
) _5’ 5
9

x:

10x° + 71x% + 48x— 108 = 0
9

x=—,—2,-6
1

75> — 55x% — 14x+ 48 = 0
,—1,8

x:

e
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